離散數學第十三次家庭作業

教師:江清水   助教：張筑鈞、陳映文

範圍：§8.2~§8.4
Due：6/16  7:00 am

以下為單選題，請於網路e學園作答：
8.2

1.
The 3-tuples in a 3-ary relation represent the following attributes of a student database: student ID number, name, phone number. Which one is likely to be a primary key?


a)
student ID number


b)
name


c)
phone number

8.3

2.
Determine whether the relations represented by the following matrices are reflexive.


a)
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b)
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c)
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3.
Let R be the relation represented by the matrix


MR=
[image: image4.wmf]ú

ú

ú

û

ù

ê

ê

ê

ë

é

0

1

1

1

0

0

0

1

0



Find the matrix that represents R2


a)
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b)
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c)
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d)
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4.
How many nonzero entries does the matrix representing the relation R on A ={1,2,3,…,100} consisting of the first 100 positive integers have if R is {(a,b)|a(b}?

 
a)
99

b)
4950
c)
9900
d)
10000
8-4

5.
Let R be the relation on the set {1,2,3,4,5} containing the ordered pairs (1,3), (2,4), (3,1), (3,5), (4,3), (5,1), (5,2), (5,4). Find R2?

a)
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b) 
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c) 

[image: image11.wmf]ú

ú

ú

ú

ú

ú

û

ù

ê

ê

ê

ê

ê

ê

ë

é

0

1

1

0

0

1

0

0

0

1

0

1

1

1

1

1

1

1

0

0

1

0

0

0

1


d) 
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6.
Determine whether these sequences of vertices are not paths in this directed graph in page 554 example 16.


a)
a,b,c,e


b)
b,e,c,b,e


c)
a,a,b,e,d,e


d)
b,c,c,b,e,d,e,d
以下為問答題：

8.2

8.
What is the output of the following query given the database in Table 9 (page 537) as input?
_1336821395.unknown

_1336821663.unknown

_1337436002.unknown

_1337436008.unknown

_1337436014.unknown

_1337435899.unknown

_1336821647.unknown

_1336821655.unknown

_1336821517.unknown

_1336821108.unknown

_1336821152.unknown

_1336821048.unknown

